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This question paper contains 4 printed pages.
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No supplementary answer book will be given to any candidate. The candidates should write the answers

precisely in the main answer book only.
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Answers to short answer-
question of descriptive part should be answered in one place in the answer-
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stion paper before start writing the answers to questions.
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type questions must be given in sequential order. Similarly, all the parts of one

book.
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r-type questions (with a limit of 20 words) of two marks

~ Part A is compulsory having 10 very short answe
and applications of the topics/text covered in

¢ach, The first question is based on knowledge, understanding,
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{ per i divided into four units comprising question numbers 2-5. There is one

B of he question pd
nal choiée. Each question will carry 15 marks.
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PART -A /91T — 3

xplain the following:-
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Vi,

Vil.

Vil

IX.

Pquilibrium point in F'conomies,
areheey N v Qg |
Iquation of the budget constraint.
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Mathematical formula of elasticity of demand.
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Luler's theorem,
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Degree of homogenity.,
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Cobb Douglas production functions.
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2x 2 Matrix.
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Howkins - Simon Conditions.
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Zero sum game,
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Game theory
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PART -B /9T —
UNIT-1/3%1$ — I

If Utility functionis U= x* y'
Budget constraint is I= Px+Py

Where P, and P, are the prices of the goodsxandy, 1= income

Find out the optimal quantities of x and y that maximise the consumer's utility.
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quie yfaey I= Px+Py
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Derive and explain the Slutsky equation in the tWo commodities case.
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UNIT- 11/ @18 — 11

ion functi ‘Ath ex: les.
3. Discussthe properties of a Well Behaved production function withexample
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it Qe L K™ L= Labour
K = Capital
Costof Labouris Rs. 5 per unit
Costof Capital is Rs. 10 per unit
Budgetis Rs. 500 then
(a) Derive the Marginal Product of Labour and Marginal Product of Capital.

(b) Ifthe firm wants to produce 100 units of output. Find the optimal combination of Labour and Capital.
Rk Q= L” K L=3M
K=gsh
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UNIT - Il / §&1¢ — 111
4. Explainthe properties and derivation of short run and long run cost functions.
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i Explain the Cobweb model mathematically and graphically,
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"’"‘ I Input-OutputMatrix: [02 0.1 0.1

04 02 03
0.1 03 0.2
e Final Demand Vector :(5)8
| 200
; the gross output of cach industry to meet the given final demand.
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OR/ Jar

2=13x, + 5%,

Subject to constraints
X, +2x,<8
3x,+2x,<12

X, %, 20
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No supplementary answer book will be given to any candidate. The candidates should write the answers

precisely in the main answer book only.
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Answers to short answer-type questions must be given in sequential order. Similarly, all the parts of one
question of descriptive part shouid be answered in one place in the answer-book.
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Write your roll number on the question paper before start writing the answers to questions.
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Part A is compulsory having 10 very short answer type questions (with a limit of 20 words) of two marks
cach. This first question shall be based on knowledge, understanding, and applications of the topics/text

covered in the syllabus.
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Part B has 4 questions (with a limit of 150 words) of 10 marks from each unit. The candidate is required to

atlempt any 2 questions.
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Part C of question paper is divided into four units comprising question numbers 6-9. There is one descriptiye

question from each unit with internal choice. Each question will carry 20 marks.
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PART - A /91T — 31

Explain the following:
fr=foRed 1 we Hifv:
(1) Giffen Goods
RIEEEE\
(1) Substitution effect
iR yarg
(i)  Marginal Rate of Substituion
ST @ BT <) ;
(iv) Production Function © ¢
ERICERTOE |
(v) Expansion Path
faeaw g ° @
(vi) Ridge lines
Rt ¥
(vii)  Discriminating Monopoly
faear vafiar
(viii)  Oligopoly
EEIEEa
(ix)  Desived Demand : °
G~ HT
(x) Marginal Révenue Product
AT 3T Saare

PART -B/#191 — q

Explain Price Subsidy v/s Cash Grants using indifference curves.
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ST il € Teraen W A1 SITET T A ST B [ |

Elaborate the returns to scale with diagram.,
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4 Explanthe Kinked Demand Curve Theory of Oligopoly. ; = ‘
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S. Write short note on Exploitation of Tabour, i
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PART -C /i — ¥
UNIT-1/g®ig — |1

6. "Price effectis combined effect of income eflect and substitution effect.” Fxplain it with the help of Flicks |
and Slutsky Approach. 20
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(1) Whatis Price elasticity of Demand? Explain the major three method of Measuring Price Elasticity.
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(i) Explain the relationship between elasticity of demand, average revenue and marginal revenue. Prove

the following:
. <  Marginal Revenue =Average Revenue — ‘ Avc!‘a.gc Revenue
AR Electricity of demand
MR= AR-—

10
ED
qha%aﬁa,zﬁmma%ﬁwﬁmﬁmwﬂmvﬁwaﬁﬁmﬁmmmm

= —
AT 3y = 3k 3y —
UNIT-11/g®18 - 11

7. Explain the law of variable proportions and its three stages. Why the second stage is considered as the

economic stage? 15+5
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Explain the important features of Cobb-Douglas Production Function. ; 20
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UNIT - 111/ §a78 — 111
8. Explain briefly:

(@) Measurement of Monopoly Power, 10

() Impactof Monopoly on Economic Welfare.,
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OR/ 312441
Explain price leadership under Oligopoly. 2
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UNIT-IV/g®18 — IV

. How would you explain factor pricing in terms of the marginal productivity theory under conditions of

Perfect competition?
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(i) Explain the determination of wage when there is perfect competition in the labour market.
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(ii) Backward bending supply curve of labour.
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